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A= sgll=dH PN AL
MY SoNASH(SEHLSM/5Y - 5E)
& sASAHENY CEE-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
206 M= Hl 1,000 0 1,000
01 M= 4l 1,000 0 1,000
Osgsts2us2d MEtl
1,000,000& * 14! 1,000
405 XHoHF S HI 5,000 0 5,000
01 HatH ESFH S 5,000 0 5,000
Ousda=Zz 5,000,000& * 14! 5,000
SMSIHSdH 29 10,000 45,000 A 35,000
201 Let24E] 3,000 5,000 A2,000
01 At 22l 3,000 5,000 A2,000
Os&SIt34de 29 3,000
CHERENE(ZEN . EES)
3,000,000& = 14 3,000
206 = Hl 3,000 0 3,000
01 M2 4l 3,000 0 3,000
OsdtsE )t38 & SESA M=
3,000,000& = 14l 3,000
301 et a3z 4,000 0 4,000
10 HALAHI 242 4,000 0 4,000
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Al 15,000
02 =224l 10,000 0 10,000




D sdEllsdd 2M  HEASEY

s EsSd(sEdH e S&E
D SASRENY CEE-ED
- _ — d =
CRN I S(EH) - HRAY - BYS 0l &k o4 e HlnE2

OsdSIt34eH 29 10,000,000 = 14l 10,000
= 7,000
Al 3,000

207 RO 20,000 0 20,000
2 14,000
Al 6,000

01 A7 39l 20,000 0 20,000
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NAEEINEES(AMBINSB) 40,000 30,000 10,000
& 20,000
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= 5,000
Al 5,000
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7,000,000& 14! 7,000
= 3,500
Al 3,500
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2,298,723
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2,247,645

A 10,945

2,247,645

A~ 10,945

2,171,865
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4,911,300& = 2& » 123
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2,258,590
2,258,590
2,179,330
2,179,330

AT,465




2= e
HF2gl(
A2HH(EZ)
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o X & A 2,984,700& = 31 x 12& 1,110,309
o A A} 3,159,400& » 19 » 12& 37,913
olls73 3,081,400& » 14 128 36,977
o)l =83 2,792,300 * 29 * 12& 67,016
oJ|ls932 2,148,200 *~ 1& = 128 25,779

OF-J:r=; 121,285
oML 1,455,420,000&¢ * 1/12 121,285
OFWZ22AI2E 111,070
o A2t =S 111,070
ga2:
8,476 x 39Y * 10AI2t x 12& 39,668
sgae
B 8,4763 * 39Y = 18AI2+ * 123 71,402
OFH~ 131,976
cItEFE Y 40,248
- Hi 2 Xt 40,000& = 39¥ % 0.9 x 12& 16,848
ot = 20,000 * 39Y * 2.5 x 123] 23,400
oNlHSHIEXZLE 13,076
DES W 419,008 * 398 * 0.2 x 43| 13,076
oM ILEIANMZ 100,000& = 39¥ * 12& 46,800
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1,455,420,000 * 4.8% * 35/100 24,452
oREIZRY 2,040
A 50,000& * 14 = 12& 600
=23 40,0008 * 3% = 12& 1,440
oU2|PRLE 4,962,800& * 9% * 123 5,360
OS24 25,440
cllsgdfad 21,120
Al &2 60,0008 » 3Y x 123 2,160
Xl & AL 50,000& » 319 = 123 18,600
720l 3t 30,000& * 1Y x 123 360
cllEgdRaE I3 1,440
| A 30,000& * 4Y x 123 1,440
ocHPAR G 80,000 » 1¥ x 123 960
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40,0008 * 4% = 123 1,920
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OY & = IHy| 1,455,420,000& * 1/12 * 120% 145,542
O A2 Al Y|
1,455,420,000& = 1/12 %x0.86 * 1/30 = 20¥ 69,537
OMIMA Yl 1,812,670,000& = 2.8% 50,755
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01 ¥R 7,200 7,200 0
O4z (A F) 400,000 = 1¥ = 123 4,800
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A= sgll=dH S R ===
M SASBEISA NSRS (SUNSSN/5 - S
H9: sZFGNE & F=235 (&)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
Oe HIZLU~ 51T 010X M2
20,000,000 * 14 20,000
HesitdE(as)sd 50,000 100,000 A 50,000
= 25,000
Al 25,000
101 @14 dl 5,000 0 5,000
= 2,500
Al 2,500
04 DI Z2XNHEE S 5,000 0 5,000
OdEsIE2g(ZAas)84
5,000,000& = 14! 5,000
= 2,500
Al 2,500
201 £B-2%| 35,000 8,000 27,000
= 17,500
Al 17,500
01 At 22/l 35,000 8,000 27,000
OdEsIEE (dAs)84
35,000,000& * 14 35,000
= 17,500
Al 17,500
202 O4dl 5,000 6,000 A 1,000
= 2,500
Al 2,500
01 =2 LHA YI 5,000 6,000 A 1,000
OHE=sI B (das) =8 2UHL
5,000,000& = 14! 5,000
= 2,500
Al 2,500
301 gt d= 5,000 6,000 A 1,000
= 2,500
Al 2,500
10 AtAHIEAZ 5,000 6,000 21,000
OLdasAHus L BIXOHY
5,000,000& = 14! 5,000
= 2,500
Al 2,500
Nedseliz 325 N 10,000 0 10,000
= 5,000
Al 5,000
101 @124 dl 10,000 0 10,000
= 5,000
Al 5,000
04 JIZHHZ2XRHESE S 10,000 0 10,000
OXYEst=sdII=82 0Bt AEXA
10,000,000& * 14 10,000
= 5,000
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